o

7

THIS DRAWING CONTAINS INFORMATION THAT 1S PROPRIETARY TO MOLEX(JAPAN) AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION

FE@EIEFELY IR (H) OFBSHMREBLEOT SHOFTE<AREHIET 3,
4 3 ‘ 2

EN-Q‘IC(032)MXJ-32

b=

7 6 4 3 2 |
_ No. DESCRIPTION MATERIAL |QUANITITY) NOTES
*
* ALUMINUME
o | CABLE COVER (A) DIE CAST |
M
b NUM
o 2 CABLE COVER (B) A[L)}"EMIC,ESTE !
Sa
N
g 3 CROSS RECESSED HEAD SCREW STEEL 2 M2.5X3 1.1
[=]
4 HEXAGON NUT STEEL 2 M2.5
. 5 |CROSS RECESSED HEAD SCREW STEEL 2 M2.5X 10
6 CRAMP SPCC-SD | 1t=0.6
7 |CROSS RECESSED HEAD SCREW STEEL 2 M2X6
(C)
pas)
NOTE.
L QUIDAT LD & =28 (M2.5% 10) :5~5.5Kgf- cm
Recomended screw (For case ass'y)
tightening torque S —TJ)L 05 JH (M2x6) 3~ 3.5KgT-cm
(For cable cramp)
Ut T90ILEER (M2.5x31.1) :3~3.5KgT-cm
(For fixed with receptacle conn.)
o
o) 8
=z
=
<T
o
a
L
=
(@]
(vl
=
E
3 Z12 MAX. 13.9 | 33.81 | 37.11 54331-1261 26
13.9 30 33.3 54331-1201 20
o
z T—JILNBEEVE
= (A) (12.7) CABLE DIA. o B A ENG.No. CKT
= e
z MATERIAL ™\ MOLEX-JAPAN CO.,LTD.
v F | B inw00onlc o SEE TABLE moleXasEL vy amIRM |
g 2 OffAR E| %, wausn[t e 5 -
2 D| %,8 wosesa™le] EN[S‘H — Tﬁitf;g\l” ON CAD SYSTEM
2 BE AGLE |oo | C| E, & w0808 e e 8 8 R & EH "
= > REVISED HTVJ WIRE RANGE — 4 .27mm PITCH I/0 CONN
3@16 E* 03| B %w“f!‘; (JD9D736) q.1[%8/126 &!9‘& CABLE HS'G ASS'Y é
= 10Kk 30 5% 0| A| E B wp9053| K fssers INS. RANGE N
= ! UNDER REVISED - DRAWN BY CHK'D BY v
- 10 e w2 | Q| FEUERRwWD90244)|YK( heera| Y.KAWASAKI Y0z | DWG. NO. SD-5433 |- x| REV B
ceneral A Rances | CIR | REVISION RECORD Bk, B APP%@T )S-\::ﬁe 2-| (SHEET | OF 20| F [5



6 4 3 2 |
_ No. DESCRIPTION MATERIAL [QUANITITY] NOTES
*
H ALUMINUME
L I CABLE COVER (A) DIE CAST i
a ALUMINUME
2
23
g 3| CROSS RECESSED HEAD SCREM STEEL M2.5X3 1.1
= |
4 HEXAGON NUT STEEL M2.5
. 5 |[CROSS RECESSED HEAD SCREW STEEL M2.5X10
E
6 CRAMP SPCC-SD 1=0.6
©) (© 7 |CROSS RECESSED HEAD SCREW |  STEEL M2X6 |
|
1 )
D I | ] NOTE. D
| = L QUABDTRILT ¢ 7 — 2 (M2.5% 10) 35~ 5,5KgF- cm
1 Recomended screw (For case ass'y)
= tightening forque —J)LIZ VA (M2x6) 3~ 3.5Kgf.cm
1 (For cable cramp)
\ U TIIEER (M2.5%31.1) 13~ 3.5KgF- cm —
— ! (For fixed with receptacle conn.)
oA |
o ‘
c s / C
= ]
« 0360
4 xeg ]
= |
v |
S \
2 i 26 MAX. 18.0 |49.05|52.35 54331-1501 50
B 18.0 | 40.16 | 43.46 54331- 1361 36 B
o
- (A) {21 TIIANBILLUR o g g ENG.No. | CKT
= P -
z MATERIAL ™\ MOLEX-JAPAN CO.,LTD.
% SEE TABLE moleXgxEL yv o MR AL | —
5 3 BIFR =
S R
) 2= ey . TRlli\(IESE% (:;\ILY ON CAD SYSTEM
Lo 1)
N AE ANGLE [ RowkEE® L.27mm PITCH 1/@ CONN |
30 o. . . =
Bk | BEE CABLE HS'G ASS'Y 3
= 10 ek 30 Bighk | 025 . 7
= < 7K DRAWN BY CHK'D BY 4. g
10 K& w2 | Q| HBER D024 K emenar| Y KAWASAKI %"“ DWG. NO'SD-5433I-IHI REV B
ceneral A Rances | CIR | REVISION RECORD Bk, B APP%@T )S-\::ﬁe 2-| (SHEET 2 OF 2)| F |3

V7

THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX(JAPAN) AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
‘ EN-0QIC(®32)MXJ-32
I

AREEBAELY TR (5) OFBEIDERESLENT BHOFILLKEHERELT D,

4

3 \

2



X-ON Electronics

Largest Supplier of Electrical and Electronic Components
Click to view similar products for 1/0 Connectors category:
Click to view products by Molex manufacturer:

Other Similar products are found below :

571763P 58098-0628 72.250.1628.2 72.250.2428.2 74720-0505 76.350.0729.0 76871-1403 FCN-244F080-G/1 FCN-260A9920 PCR-
E36PM PCS-XE26MA+ G38A71314B 1571250010 157-22500-3 MS3471L14-19P L/C 192991-0703 172501-4002 172501-6002 FCN-
260C008-A/LO FCN-260C024-AL0 FCN-2617008 2000314-1 200331-1 PCR-E36FC+ PCS-E28FS+ PCS-XE26SLFD+ PCS-
XE26SLFDT+ G730VID08BDC24 U90B2054081210 38113800006 DP3AR020WQ1R200 Z4.102.0680.0 500-1040 500-1052 500-1054
ZP-4008-66L 0709821002 DX40-20P(55) 5554841-1 MS3474W18-8P-LC* U90B3054061110 U65-E04-4020 ZPF000000000097891
747360449 10099439-003C-TRLF 10137239-0021LF E9320-001-01 10137239-0011LF 70289-001LF 70.060.1028.0



https://www.x-on.com.au/category/connectors/i-o-connectors
https://www.x-on.com.au/manufacturer/molex
https://www.x-on.com.au/mpn/amphenol/571763p
https://www.x-on.com.au/mpn/molex/580980628
https://www.x-on.com.au/mpn/wieland/7225016282
https://www.x-on.com.au/mpn/wieland/7225024282
https://www.x-on.com.au/mpn/molex/747200505
https://www.x-on.com.au/mpn/wieland/7635007290
https://www.x-on.com.au/mpn/molex/768711403
https://www.x-on.com.au/mpn/fujitsu/fcn244f080g1
https://www.x-on.com.au/mpn/fujitsu/fcn260a9920
https://www.x-on.com.au/mpn/hondaconnectors/pcre36pm
https://www.x-on.com.au/mpn/hondaconnectors/pcre36pm
https://www.x-on.com.au/mpn/hondaconnectors/pcsxe26ma
https://www.x-on.com.au/mpn/amphenol/g38a71314b
https://www.x-on.com.au/mpn/amphenol/1571250010
https://www.x-on.com.au/mpn/amphenol/157225003
https://www.x-on.com.au/mpn/teconnectivity/ms3471l1419plc_1
https://www.x-on.com.au/mpn/itt/1929910703
https://www.x-on.com.au/mpn/molex/1725014002
https://www.x-on.com.au/mpn/molex/1725016002
https://www.x-on.com.au/mpn/fujitsu/fcn260c008al0
https://www.x-on.com.au/mpn/fujitsu/fcn260c008al0
https://www.x-on.com.au/mpn/fujitsu/fcn260c024al0
https://www.x-on.com.au/mpn/fujitsu/fcn261z008
https://www.x-on.com.au/mpn/teconnectivity/20003141
https://www.x-on.com.au/mpn/teconnectivity/2003311
https://www.x-on.com.au/mpn/hondaconnectors/pcre36fc
https://www.x-on.com.au/mpn/hondaconnectors/pcse28fs
https://www.x-on.com.au/mpn/hondaconnectors/pcsxe26slfd
https://www.x-on.com.au/mpn/hondaconnectors/pcsxe26slfdt
https://www.x-on.com.au/mpn/hondaconnectors/pcsxe26slfdt
https://www.x-on.com.au/mpn/omron/g730vid08bdc24
https://www.x-on.com.au/mpn/amphenol/u90b2054081210
https://www.x-on.com.au/mpn/itt/38113800006
https://www.x-on.com.au/mpn/jae/dp3ar020wq1r200
https://www.x-on.com.au/mpn/wieland/z410206800
https://www.x-on.com.au/mpn/concord/5001040
https://www.x-on.com.au/mpn/concord/5001052
https://www.x-on.com.au/mpn/concord/5001054
https://www.x-on.com.au/mpn/amphenol/zp400866l
https://www.x-on.com.au/mpn/molex/0709821002
https://www.x-on.com.au/mpn/hirose/dx4020p55
https://www.x-on.com.au/mpn/teconnectivity/55548411
https://www.x-on.com.au/mpn/teconnectivity/ms3474w188plc
https://www.x-on.com.au/mpn/amphenol/u90b3054061110
https://www.x-on.com.au/mpn/amphenol/u65e044020
https://www.x-on.com.au/mpn/teconnectivity/zpf000000000097891
https://www.x-on.com.au/mpn/molex/747360449
https://www.x-on.com.au/mpn/amphenol/10099439003ctrlf
https://www.x-on.com.au/mpn/amphenol/101372390021lf
https://www.x-on.com.au/mpn/pulse/e932000101
https://www.x-on.com.au/mpn/amphenol/101372390011lf
https://www.x-on.com.au/mpn/amphenol/70289001lf
https://www.x-on.com.au/mpn/wieland/7006010280

